
90. Responsibility to Stakeholders (Global issues)
1. Missing words
Stakeholders are individuals or __________________ with an interest in the actions, successes and failures of an organisation. For __________________________ corporations the key issue is whether stakeholders around the world are treated with equal respect. If UK staff receive 20% more pay than at comparable firms, your staff in India deserve the same treatment (at least). With environmental issues the standard should perhaps be higher. If your expensive UK filtration system leads to zero _________________________, surely people overseas deserve the same. Some companies, however, would install the minimum filtration system required by local laws, rather than use the best they can. Stakeholder issues always need a careful balance between ______________ and competitiveness and therefore ____________________. Words: ethics, groups, survival, emissions, multinational   
2. Which stakeholder group is affected most by each of the following decisions?
2.1 A move to outsource customer service call centres to India.
2.2 No more buying cocoa from commodity markets; switching to buying directly from Fairtrade-only plantations.
2.3 A switch in transport policy from delivering by ship to air freight.

2.4 To make the company carbon-neutral within two years
3. Give two reasons why:

3.1 Tesco might pay shop workers in Poland one third of the rate they pay in Britain __________________________

______________________________________________________________________________________
3.2 Western companies might send their electronic waste to Africa to be disposed of _______________________

______________________________________________________________________________________

______________________________________________________________________________________

4. Data response:
Look at the following data relating to two High Street clothes store chains, then answer the questions below.

	
	Topmark
	Zamang

	Gross profit as a % of sales revenue (profit margin)
	61.4%
	58.7%

	Main source of supply 
	84% Asia
	62% Europe

	Number of store-employed factory auditors/inspectors
	28
	26

	Recycled clothes and fabrics as a % of annual total 
	8.9%
	23.4%


4.1 Which producer seems more focused upon its shareholders than its stakeholders? _____________________.
Briefly explain why you say that: _____________________________________________________________

_____________________________________________________________________________________
4.2 Why may there be a conflict of interest between stakeholders, if company A was deciding what to do about its recycling percentage? ______________________________________________________________________

______________________________________________________________________________________
4.3 What evidence is there that Topmark may be acting in a short-termist manner? ________________________

______________________________________________________________________________________

______________________________________________________________________________________ 
90. ANSWERS – Responsibility to Stakeholders (Global issues)
1. groups … multinational … emissions … ethics … survival
2.1 UK staff
2.2 Shareholders might take a hit
2.3 Residents/the community generally

2.4 Shareholders (negatively); the community (positively)
3.1 If UK multinationals paid the same wages overseas as in Britain, they’d risk becoming uncompetitive in low-wage economies, where local rivals are paying far less (which could mean high wages for Poles for 6 months and then redundancy); also, overpaying risks encouraging staff to stay, even if they dislike the job – so it’s self-defeating

3.2 It may because of lower local environmental standards make cheap but dirty disposal possible; or it may be that lower local wage rates make it easier to dismantle and then recycle the components (of, say, an old computer)
4.1 Which producer seems more focused upon its shareholders than its stakeholders?  

· Topmark

Briefly explain why you say that: 
· Lower cost Asian supply plus low focus on recycling are probably helping generate a higher gross margin 
4.2 Why may there be a conflict of interest between stakeholders, if company A was deciding what to do about its recycling percentage? 
· Shareholders’ interests may be best served by ignoring the issue, especially if the media and customers haven’t noticed; whereas the wider community would be better served by a more serious approach to recycling
4.3 What evidence is there that Topmark may be acting in a short-termist manner? 
· You could argue there isn’t any; it’s perfectly possible to have a long-term strategy based on lowest-cost supply and low prices to customers

· Or you could suspect that Topmark has not faced up to consumers’ greater interest in where things come from and how the planet is treated; in which case the company’s making short-term profits that won’t be sustainable when customers find out!
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